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300 S
o ndstu|R1
300 ofx 330 2|m S 020| 4s50| 4:51|Trest, nam. 5:06 | Batelov, Zel.st. 0:20 0:15| 0:01 0:36 0:01 0:00 0:01 85 203 17255 85 17255 0 0 0 0 0 0 0 0
300 (LS 317 1M S 000| s507| 5:08|Batelov, Zelst 5:11 | Batelov,Bezdéin, obec 0:03| 0:01 0:04 0:01 0:00 0:01 19 203 3857 19 3857 0 0 0 0 0 0 0 0
300 ofx 317 10(m S 000| 512| 5:13|Batelov,Bezdééin,obec 5:16 | Batelov, nam. 0:03| 0:01 0:04 0:00 0:00 0:00 2 203 406 2 406 0 0 0 0 0 0 0 0
300 (LS 316 1M S 000| 56| 5:17|Batelov, nam. 5:26 | Batelov,Lovétin 0:09] 0:01 0:10 0:03 0:00 0:03 51 203 10353 51 10353 0 0 0 0 0 0 0 0
300 ofx 316 4|m S 000| 529| 5:30|Batelov,Lovétin 5:41|Bateloy 0:11] 0:01 0:12 0:10 0:00 0:10 6,1 203 12383 6,1 12383 0 0 0 0 0 0 0 0
300 (LS 330 3[m S 0:00| s5:51| 5:52|Batelov, Zel.st 6:46 | Okfisky, Zel.st. 0:54| 0:01 0:55 0:00 0:00 0:00 364 203 7389,2 364 7389,2 0 0 0 0 0 0 0 0
300 0[X 423 2|M S 000| 646| 6:46 Zel.st. 6:58 | Radonin 0:12| 0:00 0:12 0:01 0:00 0:01 8 203 1624 8 1624 0 0 0 0 0 0 0 0
300 (LS 423 3[m S 0:00| 659| 6:59|Radonin 7:11 | Okfisky, Zel.st. 0:12| 0:00 0:12 0:00 0:00 0:00 8 203 1624 8 1624 0 0 0 0 0 0 0 0
300 ofx 330 8[m S 000| 7a1| 7:11 8:06 | Batelov, Zel.st. 0:55| 0:00 0:55 1:45 0:00 1:45 364 203 7389,2 36,4 7389,2 0 0 0 0 0 0 0 0
300 (LS 330 9m S 000| 951| 9:52 10:46 | Okfisky, Zel.st 0:54| 0:01 0:30| 1:25 1:55 0:00 1:55 364 203 7389,2 364 7389,2 0 0 0 0 0 0 0 0
300 ofx 330 12(s S 000 1321 13:11 14:06 [Batelov, Zel st. 0:55| 0:00 0:55 0:08 0:00 0:08 364 203 7389,2 36,4 7389,2 0 0 0 0 0 0 0 0
300 (LS 316 1M S 0:00 | 14:14 | 14:15|Batelov, Zel st 14:26 | Batelov, Lovétin 0:11] 0:01 0:12 0:03 0:00 0:03 6,1 203 12383 61 12383 0 0 0 0 0 0 0 0
300 ofx 316 14(m S 0:00 | 14:29 | 14:30 | Batelov,Lovétin 14:41 0:11| 0:01 0:12 0:09 0:00 0:09 6,1 203 12383 6,1 12383 0 0 0 0 0 0 0 0
300 (LS 330] 13[™ S 0:00 | 14:50 | 14:52 | Batelov, Zel st 15:04 0:12| 0:02 0:14 0:00 0:00 0:00 85 203 1725,5 85 1725,5 0 0 0 0 0 0 0 0
300 ofx 407| 54(M S 0:00| 15:04 | 15:05 15:33 | Dlouh Brinice 0:28| 0:01 0:29 0:26 0:00 0:26 153 203 31059 14 2842 0 0 0 0 0 0 0 1.3
300 (LS 407| 51(M S 0:00 | 15:59 | 16:00|Dlouha Brtnice 16:25 [ Tres! 0:25| 0:01 0:26 0:05 0:00 0:05 14 203 2842 14 2842 0 0 0 0 0 0 0 0
300 ofx 407| 56(M S 0:00| 16:30 | 16:32|Trest, nam. 17:00 [ Dlouh Brinice 0:28| 0:02 0:30 0:00 0:00 0:00 153 203 31059 14 2842 0 0 0 0 0 0 0 1.3
300 (LS 407| 55(M S 0:20 | 17:00 | 17:00|Dlouha Brtnice 17:25 [ Tres! 0:20 0:25| 0:00 0:45 0:00 0:00 0:00 14 203 2842 14 2842 0 0 0 0 0 0 0 0
odstu|R1 8:28 4:47 0:00 4:47| 264,5 53693,5 2619 53165,7 0 0 0 0 0 0 0 2,6
300cel 0 S elkem 8:28 4:47 0:00 447  264,5 0 53693,5 2619 53165,7 J 0 o 0 J 0 o 2,6
301 S
o ndstu|R1
301 ofx 316 2[m S 020| 4:29| 4:30|Batelov,Lovétin 4:41|Batelov, Zel.st. 0:20 0:11| 0:01 0:32 0:02 0:00 0:02 6,1 203 12383 6,1 12383 0 0 0 0 0 0 0 0 0 10 00
301 (LS 330 1]s S 000| 443| 4:45|Batelov, Zelst 5:46 | Nové Ves, MANN+HUMMEL 0:00] 1:01| 0:02 1:03 0:26 0:00 0:26 389 203 7896,7 389 7896,7 0 0 0 0 0 0 0 0 0 213:09:00
301 ofx 330 6[S S 000 612 6:15|Nova Ves, MANN+HUMMEL | 7:15 0:00| 1:00| 0:03 1:03 0:00 0:00 0:00 389 203 7896,7 389 7896,7 0 0 0 0 0 0 0 0 0 00
301 0[x43 | 316 5[m S 000| 715| 7:15|Batelov, Zelst 7:26 | Batelov,Lovétin 0:00| 0:11] 0:00 0:11 0:03 0:00 0:03 6,1 194 11834 61 11834 0 0 0 0 0 0 0 0 0 35:34:00
301 0fxa3 | 316 8[m S 000| 729| 7:30|Batelov,Lovétin 7:41|Batelov, Zel.st. 0:00| 0:11] 0:01 0:12 0:09 0:00 0:09 6,1 194 11834 6,1 11834 0 0 0 0 0 0 0 0 0 38:48:00
301 (LS 330 AL S 0:00| 7:50| 7:52|Batelov, Zel.st 8:46 | Okfisky, Zel.st. 0:00| 0:54] 0:02 0:56 2:24 0:00 2:24 364 203 7389,2 364 7389,2 0 0 0 0 0 0 0 0 0 189:28:00
301 ofx 330| 82(m S 000 11:10] 11:11 11:50 | Tfest, ném. 0:00| 0:39] 0:01 0:40 1:06 0:00 1:06 279 203 5663,7 27,9 5663,7 0 0 0 0 0 0 0 0 0 135:20:00
301 (LS 330] 81[m S 0:00| 12:56 | 12:58 13:46 [Nova Ves, MANN+HUMMEL 0:00| 048] 0:02] 0:20] 1:10 0:06 0:00 0:06 304 203 6171,2 304 6171,2 0 0 0 0 0 0 0 0 0 23 00
301 ofx 330| 14(m S 0:00 | 14:12 | 14:15|Nové Ves, MANN+HUMMEL | 15:15|Batelov, Zel.st. 0:00| 1:00| 0:03 1:03 0:00 0:00 0:00 389 203 7896,7 389 7896,7 0 0 0 0 0 0 0 0 0 213:09:00
301 (LS 316 13|M S 0:00 | 15:15 | 15:15|Batelov, Zel st 15:26 | Batelov, Lovétin 0:00| 0:11] 0:00 0:11 0:03 0:00 0:03 6,1 203 12383 61 12383 0 0 0 0 0 0 0 0 0
301 ofx 316| 16(M S 0:00 | 15:29 | 15:30 | Batelov,Lovétin 15:41 [Batelov, Zel st. 0:00| 0:11] 0:01 0:12 0:09 0:00 0:09 6,1 203 12383 6,1 12383 0 0 0 0 0 0 0 0 0
301 (LS 330] 15(m S 000 15:50| 15:52 16:46 0:00| 0:54] 0:02] 0:10] 1:06 0:14 0:00 0:14 364 203 7389,2 364 7389,2 0 0 0 0 0 0 0 0 0 223:18:00
301 ofx 330| 20(m S 000 17:10| 17:11 18:06 0:00| 0:55 0:01 0:56 0:08 0:00 0:08 364 203 7389,2 36,4 7389,2 0 0 0 0 0 0 0 0 0 18 00
301 (LS 316 17|m S 0:20 | 18:14| 18:15|Batelov, Zel st 18:26 | Batelov, Lovétin 0:20 0:11] 0:01 0:32 0:00 0:00 0:00 6,1 203 12383 61 12383 0 0 0 0 0 0 0 0 0 108:16:00
odstu|R1 0:30| 9:47 4:50 3208 65012,6 65012,6 0 0 0 0 0 0 0 0,0 0,0 1982:34:00
301cel 0 S elkem 0:30 9:47 4:50 320,8 0 65012,6 65012,6 J 0 o 0 J 0 o 0 0 1982:34:00 979:22:00
302 ™
o ndstu|R1
302 (LS 330] 61(M L 020| 404| 4:05 4:46 | OkFisky, Zel.st. 0:20 0:41| 0:01 1:02 0:24 0:00 0:24 27,9 203 5663,7 27,9 5663,7 0 0 0 0 0 0 0 0 0 209:46:00
302 ofx 330 4[m M 000| s10| 511 6:06 | Batelov, Zel.st. 0:55| 0:01 0:56 0:08 0:00 0:08 364 203 7389,2 36,4 7389,2 0 0 0 0 0 0 0 0 0 189:28:00
302 (LS 316 3[m L 000| 614] 6:15 6:26 | Batelov,Lovétin 0:11] 0:01 0:12 0:03 0:00 0:03 6,1 203 12383 61 12383 0 0 0 0 0 0 0 0 0
302 ofx 316 6[M M 000| 629| 6:30 6:41|Batelov, Zel.st. 0:11| 0:01 0:12 0:09 0:00 0:09 6,1 203 12383 6,1 12383 0 0 0 0 0 0 0 0 0
302 (LS 330 5[m L 000| 6s0| 6:52|Batelov,Zelst 7:53 | OKii l.st. 1:01] 0:02 1:03 1:17 0:00 1:17 392 203 7957,6 37,6 76328 0 0 0 0 0 0 0 1.6 3248
302 ofx 330| 10(M M 000| 9:10| 9:11|OKfiSky, Zel.st. 10:06 [Batelov, Zel st. 0:55| 0:01 0:56 0:00 0:00 0:00 364 203 7389,2 36,4 7389,2 0 0 0 0 0 0 0 0 0
302] 0 [X stiidd] M 0:40 Batelov, Zel.st. 11:44 |Batelov, Zel.st. 0:00| 0:00 0:40 0:00 1:38 1:38 0 203 0
302 0fxa3 | 317 13|M M 0:00| 11:44| 11:45|Batelov, Zel.st. 11:53 | Batelov,Bezd&cin obec 0:00| 0:08] 0:01 0:09 0:00 0:00 0:00 38 194 737,2 38 7372 0 0 0 0 0 0 0 0 0
302 0[x43 | 317 4[m L 0:00 | 11:53 | 11:53|Batelov,Bezdécin,obec 12:07 |Rohozna 0:14| 0:00 0:14 0:00 0:00 0:00 9,6 194 1862,4 96 1862,4 0 0 0 0 0 0 0 0 0
302 0ofxa3 | 317 3[m M 0:00| 12:07 12:08 |Rohozna 12:14 0:00| 0:06| 0:01 0:07 0:00 0:00 0:00 58 194 11252 58 11252 0 0 0 0 0 0 0 0 0
302 (LS 316 9m L 0:00 | 12:14| 12:15|Batelov, Zel st 12:26 | Batelov,Lovétin 0:00| 0:11] 0:01 0:12 1:.03 0:00 1:03 6,1 203 12383 61 12383 0 0 0 0 0 0 0 0 0
302 ofx 316| 12(M M 0:00 | 13:29 | 13:30|Batelov,Lovétin 13:41 [Batelov, Zel st. 0:00| 0:11] 0:01 0:12 0:09 0:00 0:09 6,1 203 12383 6,1 12383 0 0 0 0 0 0 0 0 0
302 (LS 330] 11{m L 0:00 | 13:50 | 13:52|Batelov, Zel st. 14:46 | OKFisky, 0:00| 0:54] 0:02 0:56 0:24 0:00 0:24 364 203 7389,2 364 7389,2 0 0 0 0 0 0 0 0 0
302 ofx 330| 16(M M 0:00 | 15:10 | 15:11|OKfisky, Zel.st. 16:06 [Batelov, Zel.st. 0:00| 0:55 0:01 0:56 0:08 0:00 0:08 364 203 7389,2 36,4 7389,2 0 0 0 0 0 0 0 0 0
302 (LS 316 15|M L 0:00 | 16:14 | 16:15|Batelov, Zel st 16:26 | Batelov, Lovétin 0:00| 0:11] 0:01 0:12 0:03 0:00 0:03 6,1 203 12383 61 12383 0 0 0 0 0 0 0 0 0
302 ofx 316| 18|M M 000 | 16:29 | 16:30 | Batelov,Lovétin 16:41 [Batelov, Zel st. 0:00| 0:11| 0:01] 0:30| 0:42 0:39 0:00 0:39 6,1 203 12383 6,1 12383 0 0 0 0 0 0 0 0 0
302 (LS 330] 19(m L 0:00| 17:50 | 17:52 |Batelov, Zel.st. 18:46 | Okfisky, Zel.st 0:00| 0:54] 0:02 0:56 0:24 0:00 0:24 364 203 7389,2 364 7389,2 0 0 0 0 0 0 0 0 0
302 0[X 330| 62|M M 0:00| 19:10] 19:11 O} st 19:50 | Trest, ném. 0:00| 0:39] 0:01 0:40 1:07 0:00 1:07 279 203 5663,7 27,9 5663,7 0 0 0 0 0 0 0 0 0
302 (LS 330] 83[mM L 0:00 | 20:57| 20:58 | Trest, nam. 21:46 | Nové Ves, MANN+HUMMEL 0:00| 0:48] 0:01 0:49 0:26 0:00 0:26 304 203 6171,2 304 6171,2 0 0 0 0 0 0 0 0 0
302 ofx 330| 84[m M 0:20| 22:12 | 22:15|Nové Ves, MANN+HUMMEL | 22:59 | Tfest,,ném. 0:20 0:44| 0:03 1:07 0:00 0:00 0:00 304 203 6171,2 304 6171,2 0 0 0 0 0 0 0 0 0
o odstu| R1 10:00) 0:23]| 0:30)12:13 8:02| 3936 79728 392 79403,2 [ 0 0 0 [ 0 0 16 3248 2475:29:00 1299:12:00
302cel o M elkem 10:00 0:23  0:30 12:13 8:02 3936 o 79728 392 79403,2 o o 0 0 o o 0 16 324,8 2475:29:00 1299:12:00




303 v
ndstu] R1 I
303] ofx [ 314] 1[mM | v [ o] 04| 4:05[Pocatey.autnadr 4:29[Studena, ul.1.maje autst. (020 | 024 0:01 045|014 0:00 014] 171[ 203 34713] 133 2699,9 0 [ [ 0 38 714 0 ) [
303] o|x | 314] 2|M | V | ooo| 43| 4:45[Studend,uliméjeautst | 5:18|Stotin, zelst 033] 002 035 o1t 0:00 011 209] 203 2427|171 34713 0 0 0 0 38| 7714 0 0 0
303]  ofx [ 340 2fv V| ooo| sa29| 5:31[Stojein,zelst 624 Tele, aut nadr. 053] _0:02 0:55] 003 0:00 003 299] 203 60697 226 4587,8 0 [ [ 0 73| 14819 0 ) [
303] ofx [ 340] 23[M | v [ ooo| 27| e:28[Telc autnadr 6:53 | Studend, ul-1.maje autst 025|001 026|000 0:00 000 157 203 31871 116 2354,8 0 0 0 0 41] 8323 0 0 0
303 ofx [ 340 26[v V_| ooo| es3] 6:57[Studena,ul.t.maje autst. | 7:29]Telé, aut.nadr 032 004 0:36] 002 0:00 0:02] 171[ 203 34713 13 2639 0 [ [ 0 21| 8323 0 ) [
303] ofx [ 340 3[s V| ooo| 7a1| 7:35|Tek autnadr 8:20 054|004 0:30] 128] 030 0:00 030 30| 203 60%| 227 4608,1 0 0 0 0 73] 14819 0 0 0
303] ofx [ 340 6[M | v [ ooo| s29] 9:31]Stoiein,zelst 10:24 Telé, aut.nadr. 053] 002 0:55] 106 0:00 106 299] 203 60697 226 4587,8 0 [ [ 0 73| 14819 0 ) [
303] ofx [ 340 7[M | v [ ooo| sx30] 11:35[Telé autnadr 12:20|Stojein, el t. 0:54]0:05 059 000 0:00 0:00 30| 203 6090 22,7 4608,1 0 0 0 0 73] 14819 0 0 0
303] ofx [ 314] s[M | v [ ooo 1229[1231 zolst. 12:51Studena, ul.1.maje aut.st 020[ 0:02 022|000 0:00 000 141|203 28623] 11,9 24157 0 ) 0 0 22| 4466 0 ) 0
303 ofx [ 314] 6[M | v [ ool 2si]12 ,ul1.maje autst. | 13:29 zelst 036] _0:02 038|000 0:00 000 253 203 51359] 181 36743 0 0 0 0 72| 14616 0 0 0
303 ofx [ 340 10[s V_| ooo] 1329] 1331 Zelst 14:24 Telé, aut.nadr. 053] 002 0:55] 000 0:00 000299 203 60697 226 4587,8 0 [ [ 0 73| 14819 0 ) [
303 olx | stiidd| V| o0 14:24 | Telé, aut.ndr. 14:30| Telé, aut.ncr. 000 _0:00 040000 0:06 0:06 o] 203 [ 0
303 ofx [ 340 27]v V| o000| 1430 14:35|Telé, autnadr. 15:03 | Studena, ul.1.maje aut.st 028] 0:05 033|000 0:00 000 17,1 203 34713 13 2639 0 o o 0 21| 8323 0 o o
303] ofx | 340] 30[M | V [ ooo| 1s03] 15:04[Studend,ul.méje autst | 15:20[Tel¢, autnadr 025|001 026002 0:00 002 157 203 31871 116 2354,8 0 0 0 0 41] 8323 0 0 0
303] ofx [ 340 11fs V_| ooo] 1s:31] 15:35]Telé, aut.nadr 16:29 Stojéin, zel st 054 004 0:58] 000 0:00 0:00 30 203 6090 22,7 4608,1 0 [ [ 0 73| 14819 0 ) [
303 ofx [ 314] 9[mM | v [ ool s620] 1631 17:01|Studena, ul-1.maje autst 030] _0:02 032 004 0:00 004|208 203 42224 17 3451 0 0 0 0 38| 7714 0 0 0
303] ofx [ 314] 10[M [ v [ ooo] 1705]17:06[Studena,ul.1.maje autst. | 17:20[Stojtin, zel.st. 023[ 001 0:24] 000 0:00 000 161 203 32683] 12,3 24969 0 [ [ 0 38| 714 0 ) [
303] ofx [ 340 14fs V_| o00| 1729 17:31Stojéin, zel.st 18:24 Telé, aut nadr 053] 0:02| 030] 125 037 0:00 037|299 203 6069,7] 22,6 4587,8 0 0 0 0 73] 14819 0 0 0
303] ofx [ 340 15[M | v [ ooo 1931] 19:35[Telc, autnaar 20:29[Stojein, zel.st 054 004 058] 010 0:00 0:10 30 203 6090 22,7 4608,1 0 [ [ 0 73| 14819 0 ) [
303] 0[x | 340 42[M | V | ooo| 2039 20:40]Stojein, zelst 20:46 | Pocatky,.autnad. 006 001 007] o021 0:00 021 3,7] 203 751,1 37 751,1 ) o o 0 o 0 0 o o
303] ofx [ 290 61[mM | v [ ooo| 2107] 21:09|Potatey. autnacr 21:16[2 007] 002 009|054 0:00 054 42| 203 8526 42 8526 0 ) 0 0 0 ) 0 ) 0
303] ofx [ 310] 60[M | v [ oz0| 2210]22:13|Zrovnice,nam 22:19| Pocalky,.autnad. 020 | o006 0:03 029|000 0:00 000 42| 203 8526 42 8526 0 0 0 0 0 0 0 0 0
odstu[R1 0:00 12:03[ 0:52[ 1:00[1545] 4:14 0:06 220] 4316 87614,8] 3322( 674366 [ [ [ ) 99,4] 20178,2 ) 0,0 0,0 3095:45:00
303cel 0 V. elkem 0:00 1203 052 100 1515  4:14 0:06 420 4316 0 876148 3322 674366 0 0 ] 0 99,4 201782 0 0 0 3095:45:00
304 s
o ndstu|R1
304] ofx [ 340 24fs S | o020 s8] 5:00[Studens,ul.1.majeautst | 5:28[Telé, autnadr 020 | 028] 002 0:50] 003 0:00 003 171[ 203 34713 13 2639 0 [ [ 0 21| 8323 0 ) [ 169:10:00
304] ofx [ 340 1[m S | ooo| su1| 5:35|Telé, autnadr 6:26 zelst 000] 051| 0:04 055|002 0:00 0:02 30| 203 6090 22,7 4608,1 0 [ 0 0 73] 14819 0 0 0 186:05:00
304] ofx [ 314 3[m S | oo 628 tojéin, el st. Limajeautst | 0:00] 0:28] 0:00 028|000 0:00 000205 203 41615 133 2699,9 0 [ [ 0 72| 14616 0 ) [ 94:44:00
304] ofx [ 31| am S | ooo| es] & &,u.1.méje aut.st 000] 0:30] 0:03 033|000 0:00 000 209] 203 2427|171 34713 0 0 0 0 38| 7714 0 0 0 111:39:00
304 ofx [ 340 4fs s | ovo| ras] 731 8:24 000] 053] 0:02] 030] 125] 037 0:00 037 299] 203 60697 226 4587,8 0 [ [ 0 73| 14819 0 ) [ 287:35:00
304] ofx [ 340] s[s S | ooo| oan| 935 utnadr 10:20Stojein, el st 000] 04| 0:04 058|100 0:00 1.00 30| 203 6090 22,7 4608,1 0 [ [ 0 73] 14819 0 0 0 196:14:00
304] ofx [ 340 8[m S | ooo| s129] 1131 12:24] Telé, aut nadr. 0:00[ 053 002 0:55] 000 0:00 000299 203 60697 226 4587,8 0 [ [ 0 73| 14819 0 ) [
304] olx | stidd| S | ow0 12:24 | Telé, aut.ndr. 12:38 | Telé, aut.ncr. 040 | 000] 0:00 040000 014 0:14 o] 203 0
304 ofx [ 402] 9[m S | ooo| 1238| 12:40|Telé, autnadr 13:07 | Stonarov 0.00[ 027[ 002 0:29] 009 0:00 009] 164 203 33292] 164 33292 0 [ [ 0 [ [ 0 ) [
304]  ofx [ 402 10[m S | 000 1316 | 13:18]Stonatov 13:45| Telé, aut nadr 000| 027] 0:02] 020] 049 003 0:00 003|164 203 3392|164 33292 0 0 0 0 0 0 0 0 0 00
304 o[xa3 | 337 13[s S | ooo| 1408] 14:10|Telé, autnadr 14:24 | Mrdkotin 014] 002 016000 0:00 0:00 96] 194 18624 96 1862, 0 ) 0 0 0 ) 0 ) 0 0: M'
304] ofxa3 | 337] 16|m S | ooo| 1424] 14:25|Mrakotin 14:37 | Telé, aut nadr 000 0:12| 0:01 013|005 0:00 0:05 81| 194 15714 81 15714 0 0 0 0 0 0 0 0 0 16:10:00
304 ofx [ 402 11[m S | o0o| 14:2| 14:45|Telé, autnadr 15:12 | Stonarov 0:00[ 027] 003 030|035 0:00 035 164 203 33292| 164 33292 0 [ [ 0 [ [ 0 ) [ 115:@'
304 ofx [ a02| 14[m S | 000 1547 | 15:48|Stonatov 16:15] Telé, aut nadr 000 027] 001] o010] 038] 006 0:00 006 164 203 3392|164 33292 0 0 0 0 0 0 0 0 0 20:18:00]
304] ofx [ 340] 29[m S | o0o| 1631 16:35|Telé, autnadr 17:03[Studena, ultmajeautst. | 0:00] 0:28] 0:04 032|000 0:00 000 17,1 203 34713 13 2639 0 o o 0 21| 8323 0 0 o :
304] ofx [ 340 32[m S | ooo| 1703] 17:04|Studend,ul.1.maje autst. | 17:20|Telé, autndr. 000] 0:25] 001 026001 0:00 001 157 203 31871 116 2354,8 0 0 0 0 41] 8323 0 0 0
304 ofx [ 340] 13[m S | ooo| 17.30] 17:35|Telé, autnadr 18:29 Zelst :00]_054] _0:05 0:59] 1.0 0:00 1:00 30 203 6090 22,7 4608,1 0 [ [ 0 73| 14819 0 ) [
304]  ofx [ 340 16[m S | ooo| 19:20] 19:31]Stoicin, zel st 20:24 | Tel¢, autnadr. 000] 03] 0:02 055 108 0:00 108| 299] 203 6069,7] 22,6 4587,8 0 0 0 0 73] 14819 0 0 0
304 ofx [ 340 31[m S | o20| 21:32] 21:35[Telé, autnadr a,ulimajeautst [0:20 | 0:25] 0:03 048] 000 0:00 000 157] 203 31871 116 23548 0 [ [ 0 21| 8323 0 ) [ 162:24:00
o odstu| R2 10:16] 0:43] 1:00[13:19 a:a9 0:14 503|370 74950,7|  2988]  60497,1 [ [ [ [ 71,2| 144536 [ 0,0 0,0 2698:56:00
304cel 0 S elkem 1016 0:43 1:00 1319  4:49 0:14 503 370 0 74950,7 2988  60497,1 [ 0 0 0 712 144536 0 0 0 2698:56:00
305 Vv
o ndstu|R1
305] ofx [ 331] 2[M | v [ o] 27| 4:28[Nowy Rychnov 5:10Jinlava, aut.nad. 020 | 042] o001 103|003 0:00 003|265 203 53795 265 53795 0 ) 0 0 0 ) 0 ) 0
305| ofxa1 | 331] 21|M | v [ ooo| sus| si15[dinlava,autnadr 5:53 | Novy Rychnov 000| 038 0:02 040000 0:00 000 234 203 a7502| 234 47502 0 0 0 0 0 0 0 0 0
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318]  olx 406] 13[v. V_| 020|155 | 15:27]Trebié, autnadr. 16:28Buded 020 101 0:02 123]  0:00 0:00 0:00]  326] 203 6617,8 32 6496 0 0 0 0 06 1218 [ o 0




[ [ o | Jodstu]R1_| [ [ 0:00] 6:45] 0:25] 0:30] 8:20] 4:19] 0:00] 4:19] 215,9] [ assag7] 2147 43305,1 0 0 0 0 1,2 2436] 0] 0 0,0 0,0 872:50:00]
318cel 0 vV elkem| | 000 645 025 030 820 419 0:00 2419 2159 0 43548,7 2147 433051 o 0 o 0 12 2436 0 0 0 0 872:50:00
319 Vv
o ndstu|R1
319]  ofx [ a06] 31[mM | v [ o2 27| 4:28[Budec 4:49| Datice, aut nadr. 020 | 021 o001 0:42] 020 0:00 020 131[ 203 2659,3 0 ) 0 ) 0 0 131] 26593 0 ) 0
319] ofx [ a06] 2[M | v [ aoo| sos| 5:11]Dacice,autnadr 6:33 utnadr. 000 122[ 002 124 0:03 0:00 003] as7| 203 9277,1 32 6496 0 0 0 0 137] 27811 0 0 0
319] ofx_ [ 384 5[M | v [ ooo| e36] 6:38[Trebic,autnacr. 7:40 [ Jarométice nRok.autnadr. | 0:00[ 1:02[ 0:02 104 038 0:00 038]  305[ 203 61915] 305 6191,5 0 ) 0 0 ) 0 0 ) 0
319] ofx [ 384 a2[M | v [ ooo| sus| s20[s nRok,autnadr | 8:28|Jaromérice n.Rok.Zelst | 0:00] 0:08] 0:02 010 102 0:00 102 a1] 203 8323 41 8323 0 0 0 0 0 0 0 0 0
319  o|x | 384] 41[M | V | ooo| s30] 9:32|Jaroméfice n.Rok. Zelst | 9:40|Jaromérice nRok autnadr | _0:00| 0:08| 0:02 0:10] 000 0:00 0:00 36| 203 7308 36 7308 0 0 ) 0 0 0 0 0 0
319 0|X | 382] 7|M | V | 000| su0| 9:41|daromérice nRok,,autnadr. | 9:48|Jaroméfice nRok Vacenovie | 0:00| 0:07| 0:01 0:08] 000 0:00 0:00 4] 203 812 a 812 0 0 0 0 0 0 0 0 0
319] ofx [ 382] a[mM | v [ oo ous ) Rok Bohus 0:00[ 0:16[ 001 0:17] 000 0:00 0:00 86[ 203 17458 86 17458 0 ) 0 0 0 ) 0 ) 0
319] ofx [ 382] 9[mM | v [ ooo| 100s| 10:05[Bohusice 10:13|Jaroméfice nRok. autnadr. | 0:00| 0:08] 0:00] 0:30] 0:38] 135 0:00 135 a6] 203 9338 46 9338 0 0 0 0 0 0 0 0 0
319]  0|x | 384] 10|M | V | o000 12.18] 12:20|Jarometice nRok autnadr. | 12:28 | Jaroméfice n Rok . zelst_| 0:00] 0:08] 0:02 0:10] 000 0:00 000 41[ 203 832,3 41 8323 0 ) 0 0 0 ) 0 ) 0
319 ofxa3 | 384 4a[mM | v | ooo| 1226] 12:20|Jarometice nRok. . zelst | 12:a: 0.00[ 013 o001 0:14] 000 0:00 0:00 57| 104 11058 57 11058 0 0 0 0 0 0 0 0 0
319]  ofxa3 [ 385] a1[mM | v [ ooo| 1242] 12:42[Sebkovice 12:52| Caslavice 0:00[ 0:10[ 0:00 0:10] 006 0:00 006]  49] 194 950,6 49 950,6 0 ) 0 0 0 ) 0 ) 0
319] ofxa3 | 383] S[M | v [ ooo| 1258] 13:00|Caslavice 13:16 | Homi Ujezd 0:00[ 0:16[ 0:02 018] 000 0:00 0:00 88| 104 1707,2 88 1707,2 0 0 0 0 0 0 0 0 0
319] ofxa3 [ 38a[ e5[M [ v [ ooo] 13:16] 13:16[Homi Gjezd 13:32 | Jaroméfice n.Rok.,zelst. | 0:00] 0:16] 0:00 0:16] 000 0:00 000 11,2[ 194 21728] 11,2 21728 0 ) 0 0 0 ) 0 ) 0
319] o|x | 384] 9|M | V | ooo| 1332| 13:32|Jaroméfice nRok..7elst_| 13:40|Jaromerice nRok autnadr_| 0:00| 0:08| 0:00 008] 023 0:00 0:23 36| 203 7308 36 7308 0 0 0 0 0 0 0 0 0
319 ofx [ 382] 11]M | v [ ooo| 14:03] 14:04[Jaromerice nRok.autnacr. | 14:11]saroméfice n Rok 0:00[ 0:07[ 001 0:08] 000 0:00 0:00 4] 203 812 4 812 0 ) 0 0 0 ) 0 ) 0
319] ofx [ 382] 8[M | V [ 000 sa1] 14:11]saromefce nRok Vacenovice | 14:18|Jarometice n.Rok.autnadr. | 0:00] 0:07| 0:00 0:07] 000 0:00 0:00 4] 203 812 a 812 0 0 0 0 0 0 0 0 0
319] ofx [ 384] 14[mM | v [ ooo| sa:s] 14:20[Jaromerice nRok.,autnacr. | 15:22[Trebié, autnacr. 0:00]_1:02| o002 104]__0:00 0:00 0:00 31 203 6293 31 6293 0 0 ) 0 0 ) 0 0 0
319 x|t stiidd| V| oao 15:22| Trebié, autnadr. 15:50| Trebié, aut.nadr. 040 | 0:00[ 0:00 0:40] 000 028 0:28 o 203 0
319 ofx_ [ 370 19fv V| 000|550 15:55| Trebié, autnadr. 17:28 | Datice, autnadr. 1:33] 005 138 0:00 0:00 0:00] 638] 203 120514] 298] 101094 0 ) 0 0 14 2842 0 ) 0
319] ofx [ 370 24fs V_| o00| 1725 17:32|Dacice, autnadr. 19:04 1:32] 004 ows| 221] oa1 0:00 01| 653|203 132559]  s513[ 104139 0 0 0 0 14 2842 0 0 0
319 X__[prejezd [ V_[ o00[ 2000] 20:00 2004 0:04[ 0:00 0:04] 000 0:00 0:00 14[ 203 284,2 14 284,2 0 ) 0 0 0 ) 0 0
319]  ofx [ a07] 11[mM | v [ ooo| 2004]20:04 20:56 Diouha Brtnice 052 0:00 052 o004 0:00 0:04 20 203 5887 29 5887 0 0 0 0 0 0 0 0 0
319 0lX 407] _14]m V_| 000| 21:00| 21:01Dlouha Brtnice 21:56 | Trebic, Zel.st. 0:55| 0:01 0:56 0:19 0:00 0:19 288 203 5846,4 288 5846,4 0 0 0 0 0 0 0 0 0
319 X__|preje s V| ooo| 2215 22:15| Trebic, zelst. 22:20 | Trebit, Pramyslova ctvit 0:05[ _0:00 005|002 0:00 0:02 23] 203 466,9 23 466,9 0 0 0 0 0 0 0 0
319 ofx_ [ a06] a1[m | v [ ozo| 2222[22:24 23:31|Budes 020 1:07] _0:02 129 0:00 0:00 000 323[ 203 65569 31,7 6435,1 0 ) 0 0 06] 1218 0 ) 0
o odstu| R2 1:15[15:13] 443 028 511] 4144 83847,8 359 726016 [ [ [ [ 554 112462 0 [ 0,0 0,0 3080:17:00
319l 0 V. elkem 115 15:13 443 0:28 511 4144 0 83847,8 359 726016 [ 0 0 0 554 112462 0 0 0 0 3080:17:00
320 s
o ndstu|R1
320 ofx [ a02] 2[m S | o] soz| 503[Nevcenle 5115 Telé, autnaar, 020 | 012[ o001 0:33] 000 0:00 0:00 81| 203 16443 81 16443 0 ) 0 0 0 ) 0 ) 0 111:39:00
320 o|x [ aoa| 17[m S | ooo| sus| 5:19[Telé, autnadr 5:50| Zeletava 031 004 035] 019 0:00 019] 189 203 3836,7] 189 3836,7 0 0 0 0 0 0 0 0 0
320 ofx [ 404 16[m S | oo s0s] ei10[Zeletava 6:45 Telc, autnaar. 035 001 0:36] 000 0:00 000 209[ 203 22427] 209 42427 0 ) 0 0 0 ) 0 ) 0
320 ofxa3 | 334 s[m S | ooo| eus| eas5|Telé autnadr 7:23 Telc, autnadr. 038 0:00 038] 000 0:00 0:00] 247] 194 a7918] 247 47918 0 0 0 0 0 0 0 0 0
320 ofxa3 [ 340 33[s s | oo 7a3| 723 7:36 | Mrakotin 03[ 0:00 0:13] 000 0:00 0:00 86] 104 1668, 86 1668, 0 ) 0 0 0 ) 0 ) 0
320  ofxa3 | 340] 3afs S | ooo| 736| 7:38|Mrakotin 7:57 | Telc, autnadr. 019 0:02[ o030[ 051 1:00 0:00 1:09 10[ 194 1940 10 1940 0 0 0 0 0 0 0 0 0
320 ofx [ 33] 12[m S | ooo| o3s| 9:38|Telé, autnadr 10:18] Tres 0:40[ _0:02 0:42] 305 0:00 305 251 203 50953] 251 5095,3 0 ) 0 0 0 ) 0 ) 0
320 ofx [ 336 14[m S | ooo| 13.23] 13:25[Trest, nam 13:34|Ruzena 009 0:02 o11] 000 0:00 0:00 53| 203 1075,9 53 1075,9 0 0 0 0 0 0 0 0 0
320 ofx [ 336] 11[m S | ooo| 13:34] 13:34|Ruzena 14:29 | Telé, Hradecka Skola 055 _0:00 0:55] 000 0:00 000 339] 203 6881,7] 33,9 6881,7 0 ) 0 0 0 ) 0 ) 0 186:05:00
320 ofx [ 336 18[m S | ooo| 1420] 14:34]Telé, Hradecka skola 15:34 [ Ruzena 1:00] 0:05 105 0:00 0:00 0:00]  339] 203 688L,7] 339 6881,7 0 0 0 0 0 0 0 0 0 219:55:00
320 ofx [ 336] 15[m S | ooo| 1534] 15:34 Ruzena 16:24 Telé, aut.nadr. 050 _0:00 0:50] 019 0:00 0:19]  304[ 203 61712] 304 6171,2 0 ) 0 0 0 ) 0 ) 0 169:10:00
30| ofx [ a02| 17[m S | o20| 1643] 16:45|Telé, autnadr 16:57 | Nevoehle 020 | 012 002 034] 000 0:00 0:00 81| 203 1644,3 81 1644,3 0 0 0 0 0 0 0 0 0 115:02:00
o odstu[R2 0:00[ 6:14[ 0:19] 030 7:43[ a2 0:00 a52| 227,9 asg7a|  227,9 45874 0 ) ) ) 0 of o ) 0,0 0,0 1551:11:00
320cel 0 S elkem 000 614 0:19 030 743 452 0:00 452 227,9 0 45874 227,9 45874 o 0 o 0 o 0o o 0 o 0 1551:11:00
21 v
o ndstu|R1
321 ofx [ a02[ 1[m | v [ o2 34| 435[Telc,autnaar 5:02Stonafov 020 | 027] o001 048] 000 0:00 0:00] 164] 203 33292] 164 33292 0 ) 0 0 0 ) 0 ) 0 162:24:00
321] o|x [ aoo] 72[v V | ooo| so02| 5:02]Stonarov 5:35 Jinlava, Motorpal hala 033 0:00 033 000 0:00 000] 172[ 203 34916] 17,2 34916 0 0 0 0 0 0 0 0 0 111:39:00
321 ofx_ [ a00] 71[mM | v [ ooo| s35] 535[Jiniava,Motorpal hala 555 Stonafov 0:20[ _0:00 0:20] 000 0:00 000 164[ 203 33292] 164 33292 0 ) 0 0 0 ) 0 ) 0
321] ofx [ a02] a[m | v [ ooo| sss| 5:55[Stonatov 6:22 Telc, autnadr. 027 _0:00 027] 015 0:00 015|164 203 3392|164 33292 0 0 0 0 0 0 0 0 0
321] ofx [ 402 s[s V| o00| e37| e:40]Telé, autnadr 7:07] Stonafov 027] 003 0:30] 000 0:00 000 164[ 203 33292] 164 33292 0 ) 0 0 0 ) 0 ) 0
321] ofx [ aoo] 7a[v V| ooo| 707| 7:08]stonarov 7:31 Jinlava, aut.ndr 023 001 024] 154 0:00 154 146] 203 20638] 14,6 29638 0 0 0 0 0 0 0 0 0
321] ofx_ [ a2[ 9fs V_[ oo 925] 928 10:25 Trebié, autnadr. 057]_003[ 030 130[ 1:38 0:00 138 381] 203 77343] 381 7734,3 0 ) 0 0 0 ) 0 ) 0
321] ofx [ a2[ 14fs V| ooo| 1233] 12:36 13:39 | Jihlava, BOSCH DIESEL 1:03] 0:03 1:06]  0:00 0:00 000] a2,7] 203 8668,1| 42,7 8668,1 0 0 0 0 0 0 0 0 0
321]  0|X_|prejeed |M | V | ooo| 13.39] 13:39|Jinlava,BOSCH DIESEL | 13:46Jinlava, Motorpal hala 0:07]_0:00 0:07] 034 0:00 034 61| 203 12383 61 12383 0 0 ) 0 0 0 0 0
321] ofx [ a00] 75[mM | v | ooo| 14:20] 14:21]siniava.Motorpal hala 14:49 [ Stonarov 028 001 029 o004 0:00 004] 172[ 203 34916] 17,2 34916 0 0 0 0 0 0 0 0 0
31|  ofx [ a02] 12fv V_| 000|143 14:55Stonarov 15:22] Telé, aut.ndr. 027] 002 029] 022 0:00 022] 164[ 203 33292] 164 33292 0 ) 0 0 0 ) 0 ) 0
321] ofx [ a02] 13[M | V [ ooo| 1s544] 1545[Telé, autnadr 16:12Stonarov 027|001 028] 034 0:00 034] 164] 203 33292] 164 33292 0 0 0 0 0 0 0 0 0
321 ofx_ [ 402] 16]M | v [ ooo| 1646] 16:48[Stonatov 17:15] Telé, aut.nar. 027] 002 029] 027 0:00 027] _164] 203 33292] 164 33292 0 ) 0 0 0 ) 0 ) 0
321] o|x [ a02| 15[M | v [ ooo| 17.42] 17:45[Telé, autnadr 18:12|Stonarov 027|003 030] o004 0:00 004] 164] 203 3392|164 33292 0 0 0 0 0 0 0 0 0
321 ofx_ [ 402] 18]mM | v [ oz0] 1s16] 18:18[Stonatov 18:45] Telé, aut.nadr 020 | 027] 002 0:49] 000 0:00 000 164[ 203 33292] 164 33292 0 ) 0 0 0 ) 0 ) 0
o odstu| R1 859] 552 552 2835 575505 2835]  57550,5 [ [ [ [ [ o o [ 0,0 0,0 1823:37:00
32%cel 0 V. elkem 859 552 552 2835 0 575505 2835  57550,5 ] 0 0 0 [ 0o o 0 0 0 1823:37:00
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o ndstu|R1
32| ofx [ 33] 2[m S | oz0| s3] 354|Lhotka 4:27|Ruzena 020 | 033 o001 054] 000 0:00 000] 208] 203 a2224] 208 42224 0 0 0 0 0 0 0 0 0 0:00:00!
322[ ofx [ 33] 1[m S | ooo| 27| 4:28[Ruzens 5:18 Telc, autnaar. 0:00[ _0:50[ 001 051|019 0:00 0:19]  304[ 203 61712] 304 6171,2 0 ) 0 0 0 ) 0 ) 0 172:33:00 64:17:00]
32| ofx [ 33] 6|m S | ooo| s37| 5:38|Telc,autnadr 6:27|Ruzena 0:00[ 049[ o001 050|000 0:00 000]  304[ 203 61712 304 6171,2 0 0 0 0 0 0 0 0 0 0:00:00!
322] ofx [ 3] s[s s [ oo e27] e:28[Ruzens 7:18| Telé, autnaar. 0.00[ 0:50[ 001 051] 005 0:00 005] 304[ 203 61712 304 6171,2 0 ) 0 0 0 ) 0 ) 0 16:55:00




322 o s s | ooo| 723] 7:24]Tele,autnadr. 7:46| Dacice, aut nadr 0.00[ 0:22[ 0:01] 05[] 1:08] 1:19 0:00 119]  169] 203 3430,7 10 2030 0 0 0 0 69] 1400,7 [ o 0 267:17:00|
322 o s S | ooo| os0| 9:52|Dacice, autnadr. 11:00 0.00[ 1.08] 002 110 158 0:00 158 s514] 203 104342| 464 9419,2 0 ) 0 0 5 1015 0 ) 0
322 o s S | ooo| 1258[ 13:00[Trebié, zelst. 14:11|Datice, TRW DAS ass. 000 111 002 113] 0:00 0:00 0:00] 536] 203 108808] 458 9297,4 0 0 0 0 78] 15834 [ o 0
322 o M S | o00| 1411 14:15|Datice, TRW DAS as. | 14:58| Telc, autnadr. 0:00[ 043 004 047] 022 0:00 022]  262[ 203 53186] 16,1 3268,3 0 0 0 [ 10,1 20503 [ 0 0
322 o m S | ooo| 15:20] 15:25]Tele, autnadr. 16:03 | Telé, aut nadr 0:00[ 038 005 043 139 0:00 139 267 194 51798] 26,7 51798 [ 0 0 0 0 0 [ o 0
32 o M s | ooo| 17a2[17:44 18:12] Trestice 0:00[ 028 002 0:30] 000 0:00 000 17,7] 203 3593,1 17,7 3593,1 0 ) 0 [ 0 [ [ 0 0 101:30:00
322| 0 m S | oz0| 1sa2[ 1812 18:30[Lhotka 020 0:18[ 0:00 038] 000 0:00 0:00 81| 203 0 81 1644,3 0 0 0 0 0 0 [ 0 128:34:00
odstu[R1 0:00[ 7:50[ 0:20] 05[] 935[ 542 0:00 542] 3126 61573,2| 282,8] 571681 0 ) [ 298] 60494 0,0 0,0 1938:58:00
322cel 0 s elkem 0:00 7:50 020 045 935 542 0:00 542 3126 0 615732 2828  57168,1 o 0 o 298 60494 0 0 1938:58:00
323 s
o ndstu|R1
323]  o|x 336 4fs S | o] s3] 4:54[Lhotka 5:27|Razena 020 033 001 0:54] 000 0:00 000 208[ 203 2224|208 22224 0 ) 0 0 0 0 0 ) 0 182:42:00
33 o]x 336| 3[m S | ooo| s27| 5:28|Ruzena 6:18 | Telc, aut.nadr 0:00[ 0:50[ o001 051|011 0:00 o11]  304[ 203 61712 304 6171,2 [ 0 0 0 0 0 [ o 0 :
323]  o|x 336  s[m S | oo 29| 6:30[Tele autnadr 7:21|Razena 0:00] 0s51] 001 0:52] 000 0:00 0:00] 304[ 203 61712] 304 6171,2 0 ) 0 0 0 0 0 ) 0
323 ofx 336 7|m S | ooo| 7ar| 7:23 7:32 Trest, na 0:00[ 0:09[ 0:02 01| 144 0:00 1:44 53| 203 1075,9 53 1075,9 0 0 0 0 0 0 [ o 0
323]  olx 336] 10[m s | oo oas| 918 9:27|Ruzena 0:00[ 0:09[ 002 0:11] 000 0:00 0:00 53] 203 10759 53 10759 [ 0 0 [ 0 [ [ 0 0
323 ofx 336 o9[m S | ooo| 27| 928 10:18| Telé, autnadr. 000[ 0s0[ 001 030] 121 1:44 0:00 144 304 203 61712 304 6171,2 [ 0 0 0 0 0 [ o 0
323]  o[xa3 [ 340 25[s S | ooo| 1232 12:35[Tele, autnadr 13:03| Studena,ul..mgje autst._| _0:00] 0:28] 0:03 031] 000 0:00 000 17,1 194 33174 13 2522 0 0 ) 0 21| 7954 0 0 0
323 o[xa3 | 340 28|m S | o00| 13:03] 13:04[Studena,ul.1.maje autst. | 13:25|Telc, Hradecka Skola 0.00[ 021 o001 022 007 0:00 007]  136] 194 26384 95 1843 0 0 0 0 41| 7954 [ o 0
323]  o|x 336] 16[m S | ooo| 13:32] 13:34[Tel, Hradecka skola 14:34|Ruzena 0:00[ 1:00[ 002 102 0:00 0:00 000 339] 203 6881,7] 33,9 6881,7 [ 0 0 [ 0 [ [ 0 0
323 olx 336] 135 S | ooo| 1434] 14:34 15:24 | Telc, autnadr. 0:00[ 0:50[ 0:00 050|018 0:00 018]  304[ 203 61712 304 6171,2 [ 0 0 0 0 0 [ o 0
323]  olx 336] 20[m S | ooo| 152|154 16:24] Trest, nam 0.00[ 040[ 0:02] 0:30] 1:12[ 029 0:00 029] 251 203 50953] 251 5095,3 [ 0 0 [ 0 [ [ 0 0
323 ofx 336| 22|m S | ooo| 1723[17:25 17:34|Ruzena 0:00[ 0:09] 0:02 o11] 000 0:00 0:00 53| 203 1075,9 53 1075,9 0 0 0 0 0 0 [ o 0
323]  o|x 336 17[m S | ooo| 17:34] 17:34|Ruzena 18:24 | Tele, autnadr. 0:00[ _0:50[ 0:00 0:50] 018 0:00 018]  304[ 203 61712] 304 6171,2 0 ) 0 0 0 0 0 ) 0
323 ofx 336| 26[m S | 020| 15u2] 18:44]Tele, autnadr. 19:00[Lhotka 020 016 0:02 038] 000 0:00 0:00 96| 203 1948,8 96 1948,8 0 0 0 0 0 0 [ o 0 128:34:00
o odstu[R1 7:56] 0:20] 1:00] 9:56[ 451 0:00 451] 288 58187,7] 279,8]  56596,9 0 0 0 ) 82| 15908 0 0,0 0,0 2008:31:00
323cel 0 s elkem 7:56 020 1:00 956  4:51 0:00 451 288 0 581877 2798  56596,9 o 0 o 0 82 15908 0 0 0 2008:31:00
324 ™M
o ndstu|R1
324]  o|x 372 1M | M | o20| 434] a35|Chotébud 5 tnadr[0:20 051 001 112[ 0:09 0:00 0:09]  329] 203 6678,7] 32,9 6678,7 0 0 0 0 0 0 0 0 0 243:36:00 30:27:00]
324]  o|x 372]  2[M | M | ooo| sas| 5:35|Moravske Budsiovice autnadr. | 6:16 | Jemnice, aut.nadr. 0:00[ 041 0:00 041] 015 0:00 0:15] 298] 203 6049,4] 298 6049,4 [ 0 0 [ 0 [ [ 0 0
324]  olx 372 3[M | M | ooo| es1| e:32]Jemnice, autnadr 7:28 | Moravské Budéjovice,autnadr. | 0:00] 0:56 0.01] o030] 127 434 0:00 43a]  358] 203 72674] 358 72674 [ 0 0 0 0 0 [ o 0
324]  o|x 372 6|M | M | 000| 1232 12:35|Morasiké Bussiovics, autnadr._| 13:35|Jemnice, autnadr. 0:00[ 1:00[ 003 103[ 018 0:00 018] 387] 203 78561 38,7 7856,1 [ 0 0 [ 0 [ [ 0 0
324]  olx 372 7[M | M | ooo| 13:53] 13:55]Jemnice, autnadr. 14:36 | Moravske Budéjovice, autnadr. | 0:00| 0:41] 0:02 043 o001 0:00 001] 298] 203 6049.4] 298 6049,4 0 0 0 0 0 0 [ o 0
324 o]x 372 8|M | M | 000| 1437 14:40|Moraské Bussiovics, autnadr._| 15:40 | Jemnice, autnadr. 0:00[ 1:00[ 003 103[  0:00 0:00 000 387] 203 78561 38,7 7856,1 [ 0 0 [ 0 [ [ 0 0
324] 0 [x|r stiidd] M | oo 15:40 [ Jemnice, aut.nadr. 15:58 autnadr. 0:40 0:00[ 0:00 0:40] 000 0:18 0:18 o 203 0 0
324]  o|x 372] _o[m | M [ ooo] 15[ 16:00]Jemnice, aut.naar. 16:40  Moravske Budéjovice, autnadr | 0:00] _0:40] _0:02 0:42] 000 0:00 000 298] 203 6049,4] 298 6049,4 [ 0 0 [ 0 [ [ o 0
324]  olx 372 10[M | M | 000| 160 16:40|Moravsie Bussiovice, autnadr. | 17:40]Jemnice, autnadr. 0:00[ 1:00[ 0:00 1:00[  0:00 0:00 000] 387] 203 78561 38,7 7856,1 [ 0 0 0 0 0 [ o 0
324]  o|x 372 11[M | M | ooo[ 1740] 17:40]demnice, autnadr. 18:21 | Moravske Budéjovice, autnadr | 0:00] _0:41] _0:00 041] 018 0:00 018] 298] 203 6049,4] 298 6049,4 [ 0 0 [ 0 [ [ 0 0
324]  o|x 372 12[M [ M | oz 1m0t otnsdr._| 19:30|Chotébud 020 050 0:01 111 0:00 0:00 000]  329] 203 6678,7] 32,9 6678,7 0 0 0 0 0 0 0 0 0 240:13:00
o odstu[R1 8:20] 013 o0:30[1023 0:18 5:53] 336,9 68390,7] 336,9]  68390,7 0 0 0 0 0 ) ) 0,0 0,0 2107:49:00
324cel 0 M elkem 0:00 820 0:13 030 1023 0:18 553 3369 0 68390,7 3369 68390, o 0 o 0 o 0 o 0 0 2107:49:00
325 ™
o ndstu|R1
325]  ofx 204] 1M | M [ o2 a32] 433]Nova Rige.nam. 4:48| Zeletava 020 0:15[ 001 0:36] 000 0:00 0:00 o 203 1827 9 1827 0 ) 0 [ 0 [ [ 0 0 121:48:00
35| ofx 204]  2[M | M | ooo| sus| aa8|Zeletava 5:23 Telc, autnadr. 0:00[ 035 0:00 035] 055 0:00 05| 225] 203 45675 225 4567,5 0 0 0 0 0 0 [ o 0 :25:
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